IF IN DOUBT, PLEASE ASK

‘ DO NOT SCALE

7 ALL DIMENSIONS ARE IN mm

J 7 , 7 H 7 G 7 F 7 E D C 7 B 7 A
ERP CODE: | |
8 DRIVEN SIDE
DRIVE SIDE o> N8 .
M4 SET SCREW ON KEYWAY. m
=
L ,«IA B
o
(o]
O
/ So . B | 9, 340015 ;
. 1 . S
W. S\A O;v%OA (ﬁv ﬂ M m
[ ] ~~ ~ \4 (Wu \4@ 8 3
o Ooa 2~ | I I £
\// O > |~ > \ﬁ\“\‘\\\\\‘\‘\\\\\‘\“\‘\‘\ o
si—|a +0.02 <
6 5+0.015 ~ P10y =
\'A 1 c
, »
7 g
L | ﬁ | - 3
2NOS—M10X1.5P  TAPPED 2NOS—M10X1.5P  TAPPED m
HOLES ON 53 PCD V HOLES ON 53 PCD 5
5 c
30 S
M4 SET SCREW ON KEYWA P
[ APPLICATION DETAILS m
APPLICATION - <
9 CLEVELOCK NUT GR.10. o
4 |RATED POWER - s
=
RATED SPEED ~ 8 COUPLING BOLT AH BOLT GR. 12.9 12 :
| |RATED TORQUE _ 7 | ATTACHMENT BOLT (1) AH BOLT GR. 12.9 12 m
AS.F. _ 6 S SLEEVE ASTM A 1040 6 m
ELEMENT BLADE =
3 COUPLING SPECIFICATIONS NOTE: — 5 ASSEMBLY AISI SS 301 25
COUPLING RATING 1.0 KW @ 100 RPM - 4 SPACER >w£\@%w7w“wémm&o>um\ e
TIGHTENING TORQUE :— 8
RATED TORQUE 95 Nm 3 ADAPTER 1/1l ASTM A 1040 2 |2
— MAX. BORE y— 1) SR.NO.8 COUPLING BOLT = 12.1Nm .
i 2 DRIVEN HUB (1) ASTM A 1040 1 s
Mv SR.NO.7 ATTACHMENT BOLT = 12.1Nm
WEIGHT (A . 1.898 k ®
( UuMoxV 9 1 DRIVE HUB (1) ASTM A 1040 1|
2 | INERTIA (WK 0.001 kg.M"2 =
( ) 9 SR.NO. DESCRIPTION MATERIAL atv. |8
TORSIONAL STIFFNESS 0.018 ZZE\BQ
|| CPL G DYNAVIC BALANGING 70 GF 63 TITLE: MATERIAL: AUTHORITY[ INITIALS] SIGN | DATE m
AS PER ISO 21940-11 REM—8(80)I/I REFER TABLE | DRAWN _ _ o
MAX. MISALIGNMENT /XXXX CPLG | :
] : CHECKED - - g
AXIAL DEFLECTION 1 mm CUSTOMER NAME: %Eoéj - -
ANGULAR DEFLECTION | 0.75° PCALE: NTS REF. NO. £
RATHI TRANSPOWER PVT LTD [NG: OF PROJ 7@|m RONO- w
RADIAL MISALIGNMENT | 0.013mm REV o_@%z DESCRIPTION REV. BY >mn<o, DATE PUNE-411014 L/REM—XXXX /0 [©
E/ 0/ 3 EN-F—112-Revl

prior written authorization & is subjected to recall at any time. Acceptance of this drawing constitutes full arrangements with these conditions.




